Potencias de 10 (A)

Calcule los siguientes productos y cocientes.

6.5999 + 1000

6.4522 x 10

5.1243 x 100

4.6809 + 10

8.0889 x 10

9.1585 x 1000

9.4474 = 1000

2.6607 =10

47518 x 10

1.6118 +100

7.7279 + 10

5.6339 x 10

3.6319 x 100

8.1493 =10

6.3097 x 1000

6.1552 x 10

5.4804 x 10

6.5709 x 1000

3.9134 =100

6.0615 x 1000
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Potencias de 10 (A) Respuestas

Calcule los siguientes productos y cocientes.

6.5999 = 1000
0.0065999
6.4522 x 10

64.522
5.1243 x 100
512.43
4.6809 =10
0.46809
8.0889 x 10
80.889
9.1585 x 1000
9,158.5

9.4474 = 1000
0.0094474
2.6607 =10

0.26607
4.7518 x 10
47.518
1.6118 100
0.016118

7.7279 + 10
0.77279
5.6339 x 10
56.339
3.6319 x 100
363.19
8.1493 =10
0.81493
6.3097 x 1000
6,309.7

6.1552 x 10
61.552
5.4804 x 10
54.804
6.5709 x 1000
6,570.9
3.9134+ 100
0.039134
6.0615 x 1000
6,061.5
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